35.37
XH20exh T 3537
1+

1000

= 34.16 mmol/mol

=0.0252+ 29.3 + 476 _0.371 0851—m 0.172 = 0.0249 mol/mol

X, .
Coombdry 1000000 1000000 1000 1000

29.3-(0.034-0.012-0.851)

Xidry = =8.5 umol [mol
3.5 (25 2 _0.371 0.851)

1000 1000

8.5

47.6
1000000

=0.0353 mol/mol
1000000

XH20exhdry = 128 (0 0249 — j+ 0.012-0.851+0.017-0.172—

0.822

Xdivexhdry 10032 = 0.851mol/mol

E—-0050+2+2 0.0003 || 0.0249 - 476 |_
1 2 1000000

ey 20206( 293 504 121 85 J
1000000 1000000~ 1000000 1000000

X, =0.172 mol/mol

(%—F 0.050+0. 0001)(0.0249 —i) +

1000000
xraw/exhdry = —1— +0.172=0.184 MOI/WZOI
2 (2' 476 293 121 85 j

1000000 1000000 1000000 1000000

v, = 0.2098201702(2)00375 ~ 0.206mol/mol
1+

1000

Xeoing = 0'00031775212000 =0.369 mmol/mol
1+
1000

X120intdry — %= 17.22 mmol /mol

1000



